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6. Which of the following statements best describe this graph?

+ . The graph represents a reactant that is second order.
./ ll. The absolute value of the slope for the graph is equal to the rate constant, k.

3 1I1. The units for the rate constant, k will be M " time™

a) lonly d) lland Il only
™

(ELAIonW e) I, land Ill
c) landllonly

7. Asthereaction A+ 2B -» C proceeds at constant temperature, the reaction rate

a) remains the same since there is no catalyst present

b) remains the same since the temperature is constant

c) increases because the rate constant is a large number

d) increases because the rate of effective collisions increases over time

decreases because the concentrations of the reactants decrease as the reaction progresses

8. For the reaction whose rate law is given below, a plot of which of the following is a straight line?
rate = k[X] = 15t order

a) [X] vstime c) In[X]vs 1/time

b) 1/[X] vstime In[X] vs time

9. What are the potential units for the rate constant for the reaction below?

A4B-5C4D mm:ﬂmwﬁ’J%mcmﬁﬁwwﬂ
g) g1 b) stm? (CD st M2 d stm3
10. 21,021, D,

Which of the following is true of the relative rates of disappearance of the reactants and appearance of the products?

a) O; appears at twice the rate that H,O disappears.

b) H, appears at half the rate that H,O disappears.

¢) H: appears at twice the rate that H,O disappears.
@ 0, appears at half the rate that H,0 disappears.
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The reaction between bromate ions and bromide ions in acidic agueous solution is given by the equation:
BrOs(ag) + 5Br(ag) + 6H<ag) - 3Bn() + 3H00)

The table below gives the results of four experiments.

Free Response Practice!

Experiment  Initial Initial Initial Measured initial rate
[BrOs7] [Br7] [H] (molTLes)
Losi B0 £ 0.10 (0.10 2x/ 8.0 % 10°*
> (a0 *Vozo Yoto ]l “Yiex10® iy
3 o0 | o2 Goto [ 76374103 .,
4 0.10 0.10 0.20 32 x 107 ~

|

a. Using the data above, determine the order for all three reactants and the overall reaction order. j-“‘sj‘\% =
b. Write the rate law for the reaction.

c. What is the value of k, and what are the units of k?

d. For experiment 4, calculate the amount of BrO3™ remaining when 75% of the H' has reacted.

e

What is the rate of formation of Br; in experiment 17
q‘) @iwf’l‘?"_"}f |+2 1 Zx LB, while LR ) and CHAD (onstant T rate X 2,
thut vy 1§ \SJr order W/ "ff!&?f* to Br 0,

3 .

QXP‘% 2431 Zx [Re™D while [BrO ] and CH* D Conttant T rate %2,

s txu is ¥ ocder l~‘/ffﬁi°é'd to B!

g & S an ¥V aly L

ri\(p‘{’_ |44 Z X EH+J While [@r’j and Eefo? ] ton ST ant A vate x |;
+
Hir rxn s 2"0" srder W/ r{ﬁ{)f(_ﬁ\ is H

e e \

. \ ':’77",‘-‘\1
7‘) oNerall re acHon DFO“{‘:/‘ =l+1+2 :_-H \rc'lm un\it &l \

b.) vote =k [ &rO;JLB ) [e®

Cl‘} ]‘< = ;——ii(—‘——u—— w 8’05_!-{ M/S 2 -2 "—l —-“2’)
i Arp Trusnt . o @ 8O MTE (M
[%\,DZ JUB-J[H*] (6,16 M)

2 —
d.) 0.20My 0352 8:15 ™yt 4 1ol Br O3 5 bk M EDy apected
. (amo\ HJ( B , -
= -;f,.Ar\éM r{Q (el\ﬂql'/‘w 1
> 0.Ip-0.025 =0.035 M Br O, fé‘w'“-‘fj, L___ =y S 3 J
M na 3.9 {%35‘
e vaf, = + ACBT
“TR T:‘o()g—th/S
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